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\\1 \\/11 Solving Sequence
— 1 —->11~> 12 > 6> C5,C11
C6

. 27>8—>3>9>4->10-5
A knot dlagranﬂ ¢t €2 Cg C3 C9g €4 C1 Ci0 C12

Ideals for irreducible component#ﬂ)f Xpar

I = 4 u® 4 u+1)

* 1 irreducible components of dim¢ = 0, with total 69 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LI=(u®4u®+..-+u+t+1)

(i) Arc colorings

w- (1)

a7 =
ag =
az =

ag = (
u” — 2ud + 2u3 — 2u
as = \ —u" +ud —2ud +u
u? — 3ut0 + 5u8 — 6ub + 4ut —3u2 + 1
—u'? 4+ 2010 — 448 + 408 — 3ut + 202

—ul7 4+ 401 — 9u!3 + 14u!! — 15u° + 14u” — 10u® + 6u® — 3u
wl” — 3u® + 7u® — 106t + 114 — 1067 + 6u’® — 4u + u

—u?? + 8udT + - 4 420 — 8u?
w3 — TudT 4+ 203 +u

u® — 1057 + -+ + 5ud — 2u
ag = \ u% — 11+ —ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u%® + 52u%0 + ... —4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 w2588+ w41
C2,C7 ub U 4 w1
C3,C4,Cy w — B 15+ 1
C5,C6, C11 b +u w1
c10 u% —17u% - 4 49u — 1
C12 ub —3uf® + ... —15u+5




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, 8 Y% +39y% 4+ 43y — 1
Co, C7 Y — 25y 4.y —1
C3,C4, Cy y% —69y%8 + ... 431y — 1
5, C6, C11 Y% — 61y . —y—1
C10 Y% +3y% + - 4959y — 1
C12 Y% + 7y + . 4 535y — 25




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.561535 4 0.8017191

0.59754 — 9.280561

—1.67855 + 4.924811

u = —0.561535 — 0.8017191

0.59754 + 9.28056.1

—1.67855 — 4.924811

u = —0.741260 + 0.7056291

2.07770 — 1.559521

0.+ 4.245751

u = —0.741260 — 0.7056291

2.07770 + 1.559521

0. —4.245751

= 0.858174 + 0.4606521

3.02036 + 0.769221

—4.00000 + 0.639881

0.858174 — 0.4606521

3.02036 — 0.769221

—4.00000 — 0.639881

u= 0.552904 + 0.7950561

—4.60768 + 5.516771

—6.32456 — 4.075541

u= 0.552904 — 0.7950561

—4.60768 — 5.516771

—6.32456 + 4.075541

= 0.787073 + 0.6830951 2.73226 — 1.634181 0
u= 0.787073 — 0.6830951 2.73226 4 1.634181 0
= 0.744206 + 0.7328241 7.48690 4 4.597971 0
= 0.744206 — 0.7328241 7.48690 — 4.597971 0
u = —0.891875 4 0.5482881 —1.16815 + 2.142501 0
u = —0.891875 — 0.5482881 —1.16815 — 2.142501 0

u = —0.540612 + 0.7786811

—2.67823 — 1.596841

—3.63668 — 0.697721

u = —0.540612 — 0.7786811

—2.67823 + 1.596841

—3.63668 + 0.697721

u = —0.923734 + 0.2009801

1.85137 + 5.820411

—6.32686 — 6.944831

u = —0.923734 — 0.2009801

1.85137 — 5.820411

—6.32686 + 6.944831

u = 0.582842 4 0.7442011

3.93389 + 1.071167

0.776477 — 0.4576251

u= 0.582842 — 0.7442011

3.93389 — 1.071161

0.776477 + 0.4576251

u = —0.930462

—0.771769

—9.37220

u = —0.519198 4 0.7680411

—2.80848 — 1.333041

—4.00000 + 1.123851

u = —0.519198 — 0.7680411

—2.80848 + 1.333041

—4.00000 — 1.123851

u = —0.805040 + 0.7188701

8.37556 + 3.798201

0

u = —0.805040 — 0.7188701

8.37556 — 3.798201

0

= 0.900653 + 0.1460181

—3.07880 — 2.619271

—12.21002 + 6.265261

u=0.900653 — 0.1460181

—3.07880 + 2.619271

—12.21002 — 6.265261

= 0.493368 + 0.7600921

—4.98673 — 2.509511

—7.03178 + 3.704401

u = 0.493368 — 0.7600921

—4.98673 + 2.509511

—7.03178 — 3.704401

u = —1.09692

—1.56890

0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

1

£

= —0.476518 + 0.7543321

0.06794 + 6.251681

—2.30141 — 4.864941

u = —0.476518 — 0.7543321 0.06794 — 6.251681 | —2.30141 4 4.864941
uw=0.945924 + 0.5885571 2.32478 — 5.030421 0
uw= 0.945924 — 0.5885571 2.32478 4 5.030421 0
uw= 0.911304 4+ 0.6693671 2.35185 — 3.588541 0
w= 0.911304 — 0.6693671 2.35185 + 3.588541 0
u= 1.132630 4 0.0078211 —8.44892 — 0.189751 0
uw= 1.132630 — 0.0078211 —8.44892 4 0.189751 0
u = —1.135870 + 0.0213931 —10.52510 4- 4.167441 0
u = —1.135870 — 0.0213931 —10.52510 — 4.167441 0
u = 1.136010 + 0.0300891 —5.39627 — 7.984121 0
uv= 1.136010 — 0.0300891 —5.39627 4 7.984121 0
u = —0.900087 + 0.7021481 8.08679 + 1.630351 0
u = —0.900087 — 0.7021481 8.08679 — 1.630351 0
u = —0.943327 4 0.6812041 1.46972 + 6.889661 0
u = —0.943327 — 0.6812041 1.46972 — 6.889661 0
uw=0.947298 4 0.6976511 6.87547 — 10.055701 0
u= 0.947298 — 0.6976511 6.87547 + 10.055701 0
u= 1.033920 + 0.6603501 2.60685 — 6.437111 0
u= 1.033920 — 0.6603501 2.60685 + 6.437111 0
u = —1.057090 + 0.6289941 —1.60252 — 1.029091 0
u = —1.057090 — 0.6289941 —1.60252 4 1.029091 0
u = —0.769541 —1.25215 —7.16180

u= 1.057010 4 0.6365651 —6.61719 — 2.767761 0
uw= 1.057010 — 0.6365651 —6.61719 4 2.767761 0
u = —1.055470 + 0.6473671 —4.37317 + 6.685161 0
u = —1.055470 — 0.6473671 —4.37317 — 6.685161 0
u = —1.054270 + 0.6582601 —4.18744 + 7.024671 0
u = —1.054270 — 0.6582601 —4.18744 — 7.024671 0
u= 1.056900 + 0.6666311 —6.10164 — 11.020801 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= 1.056900 — 0.6666311 —6.10164 + 11.020801 0
= —1.056820 4 0.6716741 —0.8759 + 14.82241 0
= —1.056820 — 0.6716741 —0.8759 — 14.82241 0

0.461695 + 0.4731101

3.31546 + 0.659941

—1.10722 4 1.031091

0.461695 — 0.4731101

3.31546 — 0.659941

—1.10722 — 1.031091

0.101930 + 0.4828461

4.82799 — 3.724751

2.55800 + 4.456891

0.101930 — 0.4828461

4.82799 + 3.724751

2.55800 — 4.456891

—0.142678 4- 0.3715991

—0.151965 + 1.0563101

—2.64659 — 6.183131

glele|g|g|g|g|g |

—0.142678 — 0.3715991

—0.151965 — 1.0563101

—2.64659 + 6.183131




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs ub +25u% . —u 1
C2, 07 w4 w1
c3,Cq, Cg ub — % 4 —15u+ 1
C5,Cq,C11 W+ w1
C10 ub — 17u% 4 4490 — 1
C12 ub —3uS ... —15u+5




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, Cs % +39y% 4+ 43y —1
ca,Cr Y% — 25y .y —1
C3,C4, Cg y69—69y68+~--+31y—1
C5,C6, C11 Y% — 61y .y —1
€10 Y% +3y%% + - + 959y — 1
c12 Y% + 7y%® + ... £ 535y — 25




